
THIS PRODUCT IS FOR OFF ROAD USE ONLY

Drilling suggestion
and restraint with tube 
clamps 

Settle the complete rack over the roof aligning the perforations. 

clamps (as it shown in the image).

* For safety tighten all the screws.
Now you have completed the installation.



Central Bar

3/16 x 1/2” Screw

Front Roof Rack

Align 3 central bars with the perforations (as it is shown in the 
image). Use twelve 3/16 x 1/2” screws with nut, inserting them 
bottom-up and tighten all screws.

Central Bar Rear Roof Rack

Front Roof Rack

1/4 1/2” Screw

For the installation of this sport roof rack it is necessary to 
perform additional perforations to your RZR XP PRO roof.
Place the rear roof rack with the laterals, the lips goes inside of the 
laterals. (as it is shown in the image). Use four 1/4x 1/2” screws with 
nut. (Do not tighten yet). 

Nuts

Laterals

Rear Roof Rack 

Nuts
Frontal Roof Rack 

1/4 1/2” Screw

Place the frontal roof rack with the laterals (as it is shown in 
the image). Use four 1/4 x 1/2” screws with nut (Do not 
tighten yet).

(8X) 1/4” x 1/2” Bolts
(4x) 1/4” washers
(12x) 1/4” Nuts

(12X) 3/16” x 1/2“ Bolts
(12x) 3/16” Security Nuts  
(4x) 1/4” x 1” Bolts  

Hardware:

(8X) 1/4” x 1/2” Bolts
(4x) 1/4” washers
(12x) 1/4” Nuts

(12X) 3/16” x 1/2“ Bolts
(12x) 3/16” Security Nuts  
(4x) 1/4” x 1” Bolts  

Hardware:


